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Compensation Strategy for

Decimal Addition

Whatits: This strategy involves adjusting the expression to make It easier 1o 3dd
or subtract, and then compensating (or undoing) to preserve equivalence. The
quantities tend to be rounded up t0 2 convenient number

Lerslookat 38 +4.9

What it sounds ike: 2 options Howitlooks

1 can adjust one number to make it
easler o add. If pretend that 4.9 s

5 w01
P

5,then 3.8+ 515 8.8, However, to

adjust the start number from 4.9 to f )
38 37 88

51had to add 0.1, That means my
answer i 0.1 too much. To
compensate for that | need to
subtract 01 from 8.8:
88-01687

1 can adjust BOTH numbers to think
Of this 354+ 5 =9, | could add 0.2
1038 tomake it4 AND 3dd 0.1 o
4910 make it 5. 1 added 03 100
much (0.1 304 0.2). To compensate
forthat, | subtract 0.3 from
9-03287

When s Useful: Ths srategy is useful when one or both numbers are near
the next whole number
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Compensation Strategy for

Decimal Subtraction

What it s: This strategy Involves adjusting the expression to make i easier (0 3dd
or subtract, and then compensating (or undoing) to preserve equivalence. The
quaniities tend to be rounded up to a convenient number

Let's ook at 063 -0.38

What it sounds ike: 3 Options How it looks
1 an adjust the first number (the How itooks:
minuend) to make It easer o subtract.
12dd 0.05 t0 .63 the frst number (the 03
minvend), so no regrouping i needed: | .05 N\005
<z D\

0,68-0.38 = 0.30. But adding 0.05 to
the first number made the difference 025 030 063
005100 much. To compensate |

sublract 0.05:0.30-0.05=0.25

Ian adjust th second rumber ihe | How tooks.
trahend) by adeing .03 038 1o
ks it asier o subtract p

oo 00 __

0,63.0.40-0.23. But adding 0.02 1o the
second number means | TOOK AWAY
002100 much. To compensate | add
0,020 my answer: 023+ 0.02-0.25.

023 025 [

1 can adjust both numbers in 3 way that | 8oth ines have thesame ength (4ference)
keeps the diference between the

numbers the same. 1344 0.0210 03810 0,63.0.3¢ 065.0.40:0.25
make 0.40 and to compensate for that | .

3dd 00210 0.63 to make 0.65. Now e
065-0.40=0.25, =, =

When s Useful: Ths srategy is useful when subtraction would otherwise:
involve regrouping
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Compensation Strategy for
Fraction Addition

What it is: This strategy involves adjusting the expression to make it easier to add
or subtract, and then compensating (or undoing) to preserve equivalence. The
quantities tend to be rounded up to a convenient number

Let'slookat 32 +22
3*235

What it sounds like: 2 options How it looks

| can adjust one number to make it
easier to add. If | pretend 3-; is4,
then4+ 2%: 6 -g . However, to
adjust the start number to 4, | had
to add % too much. To compensate

for that | need to subtract % from

What it sounds like: | could also How it looks:
adjust BOTH numbers to think of this

as4+3=7. I could add  to 37 to
make 4 AND add —Z to 2% to make

3. Notice we added a total of—z .To

compensate for that, we have to

subtract = from 7,s0 7,3:5§
8 8°"8

When It’s Useful: This strategy is useful when one or both numbers are near
the next whole number.
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Compensation Strategy for

Fraction Subtraction

What it is: This strategy involves adjusting the expression to make it easier to add
or subtract, and then compensating (or undoing) to preserve equivalence. The

e . 4 9
quantities tend to be rounded up to a convenient number. Let’s look at SE -3 =

What it sounds like How it looks

I can adjust the first number (the minuend) to

make it easier to subtract. | add -3 to6 2250 it

should be 5%— 3]—"2 =3. But adding to the first

number made the difference  too much. To 7 4 9
12 2z 1z

5 ,.5
compensate | subtract 3:3-=>

dl

1 could also adjust the second number (the

subtrahend) by adding]—sz to 4 making it easier:

4 4 3
BE —4= ZE . But adding. ot the second

number means | TOOK AWAY = too much.To <

compensate, | need to add %

to my answer, 50 2 += 2%
v ’ 1212 ‘12

1 could adjust both numbers in a way that keeps

the difference between the numbers the same. |

add % to make 4 and to compensate for that |

3 4 7 7 7
addﬁ toGE to make BE.NBWGE -4= ZE

When It’s Useful: This strategy is useful when subtraction would otherwise
involve regrouping.




